nECH

—= TOMORROWS WEAPONS

SRS M2 Top Raill Installation Instructions

Remove the SRS A2 top rail by loosening the 6 screws fastening A2 Rail in place. Hold on to
these, you will need them later.

With 3 3/8 Button Head Cap Screw, and 3 M-LOK T-Nuts, Fasten the M2 Top Rail to the A2
Handguard — Torque to 24in. Lbs.

With the original 6 screws removed from the SRS A2 Top Rail, place the remaining screws into
the top rail holes — Torque to 24in. Lbs.

Parts Included:

Screw, 10-24 x 3/8 Button Head Cap Screw — 3 qty

M-LOK T-Nut - 3 qty

SRS M2 30MOA 550mm Full-Length Top Rail — 1 qty



